
Part One 
 

The answers are: 
 

1) across = 2 = BOCCHERINI 
2) down  = 5 = ELGAR 
 
        3) down = MINOR 
 
4) across = 2 = BEETHOVEN 
5) across = 4 = DELIUS 
6) down  = 2 = BERNSTEIN 
7) across = 4 = DVORAK 
 
       8) across = MAJOR 
 
9) down  = 3 = COPLAND 

          10) across = 3 = CAGE 
          11) across = 4 = DONIZETTI 
          12) across = 1 = ALBENIZ 
          13) down  = 1 = ALKAN 
          15) across = 3 = CHOPIN 
 
                  16) down = NONE 
 
          17) across = 2 = BACH 
 

 

Parts Two and Three 
 

The final answer is: 
ACCIDENTALS 


